B335 811 1§ﬂ)§i BITINE —HEF TFE g’{?#i] R e
KERAM S TRP K, # TRARS - IHBEEFRY

— HEHAE [F1~4E BEH6D B5~12F - FEHT7 7 #£8057]

o

B

o

% P BRAPER L VEIERIEISR - DIB65 AR A - B FTIGRERR PA=PB=20 » 33Kk APAB Hy4MEEIHIfE 5

7

2. [ X,y B B EE |XzﬁlﬁWYEf?§‘FW+UmF$@%

3.5 —f 2022 THHYFE AT ay, ap, a3, -, ooy H. @1+ +as+ - +agp=a10=120 > 5K aggos=__

. L \ f—18 o’ —18
4-Eﬁ$%ftx —X—36=0 E@W*EE% a~p- Hij a—37 +ﬁ737 =

5. K774k R ABCD & AB=21-% AD=20  KiHHEHEGAMCES  sURKBEE~R__

6ARIEES]  <an>EEHR 1 NFER THEERY] > <bh >ZEHE 1 QLR 7AVELLES] -
SR Az BRELLTL AUERSECR

THEEREEE 5 BEEC 5 RS TAEC § RS AEC Bl n (R MER

8.5 Xy Ry G EHIIEREH E\[ Vs 7L AHUE NECRE DL NS5 — I AVATIUE & 0.7 3 x+y=40- Alx=_____

[+ 6 # F #u]



9.8 —{E T I AG  BAYPIRG ICE i e HAe AR & A& IE =B ERVATGRIE & FREE A R E SR =AF

FHEESE > BIFAT - 2 AB=DE=1/\K  CD=2 /AR » 3K IHy s A NN
A B C D
\ :
IS N F/ N
HifRIE] FHARE FHIE

10. Pl S FE i — RHAN IERVEL T - EENESTHIR K 6 B E IR o SRR 7 ZOAE L > BRI ERAYERE
o BREEETRELIRAVIER - $E3tA (E

115 —4eefifney B I EER AR E R 6 ) » W H PR Ry 9 VISR RE - FE M - fhiky B T EERAYEE
BER O 3y A ()R » 5 EEFREE - T EER e 900° HARFHELE 15 - di4BI5-FaES il - Ak () AR
AR IELHRF BT W EER AV EE R AVl

74/\/‘ jﬁj

(=)

v L—L’L L‘L\
N | LV
—>

6
[&l(—)

12.0nline shopping is popular nowadays, and shopping vouchers(l#4#7)25) are no exception. A bakery has launched
shopping vouchers online, and the discounts are as follows:each purchase(f &) is limited to 100 pieces, the basic
number is 30 pieces, and each piece is charged 200 dollars. If the number of purchases exceeds(i# 1) the basic number,
each one is added, each can be 20 dollars cheaper. The question is: if a company spent 13740 dollars buying the shopping

vouchers as a gift, how many pieces did the company buy?
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